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1. Which of the following is true?
A) For an inferior goods, when income increases, the demand curve shifts leftward.

B) If the price of a substitute nises, the demand curve shifts leftward.
C) An increase in population will cause the demand curve to shift leftward.

D) If people expect the price of a goods will rise in the future, the demand curve shifts leftward.

2. If demand 1s inelastic, an increase in the price will

A) decrease total revenue.
B) increase the quantity demanded.

C) increase total revenue.

D) not change total revenue, | ,

3. The seller will pay the entire sales tax levied on a goods when

A) demand 1s perfécﬂy elastic or supply is perfectly inelastic.
B) demand is perfectly melastic or supply is perfectly elastic. \
C) demand is perfectly elastic or supply 15 perfectly elastic.

D) demand is perfectly inelastic or supply is perfectly inelastic,

4. Which of the following statements about the marginal rate of substitution is NOT correct? |
A) It decreases in value when moving downward along a typical- shaped mdifference curve.,

B} It measures the number of units of the goods on the horizontal axis that a consumer must be

compensated with to give up a unit of the goods on the vertical axis, while remaining on the;

same indifference curve.

C) It is measured by the slope of the indifference curve.

D) It is constant for goods that are perfect substitutes.

5. The change in consumption that results from a change in the relative price of goods while stayin

on the same indifference curve is the
A) indifference effect.

B) price effect.

C) income effect.
D) substitution effect.
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6. When the marginal product curve is downward sloping, the
A) average product curve may be either upward or downward sloping.
B) average product curve must be upward sloping.

() average product curve must also be downward sloping. | |

| D) average product curve must be horizontal, |

7. A fﬁm‘s short- run supply curve is the same as

| A) that portion of its marginal cost curve that lies above average variable cost,

B) that portion of its marginal cost curve that lies above average total cost. |

C) its entire marginal cost curve.

D) that portion of its marginal cost curve that lies above average fixed cost. |

8. Which of the following is NOT necessary for a monopoly to increase its economic profit by
discriminating among groups of buyers?
A) Resale of the product is difficult or unlikely.

B) Each group of buyers must have a different average willingness to pay.
C) The firm must be able to separate different buyer types. I
D) The firm must be able to identify each individual consumer’s precise willingness to pay.

9. The kinked- demand curve model predicts that
A) small firms will look to larger firms for price leadership. I
B) oligopolies often show no change in price although costs have changed.

C) dominant firms in oligopolistic markets will frequently change their prices.

D) the law of demand doesn’t work for oligopolies.

10. In 2 prisoners’ dilemma game, in the Nash equilibrium

‘ A) one player has another outcome that does not occur and is more favorable.

B) both players have another outcome that does not occur but 18 more favorable. . ‘

C) collusion would not alter the outcome.

D) neither player has another outcome that does not occur and 1s more favorable.
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